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1. ‘What is Collection in Java?
a) A group of objects modifiable
BYA group of classes
c) A group of interfaces a *Set’ doesnot -
d) None of the mentioned S e

2. Which of these packages contain all the

collection classes?

a) java.lang

_Jbrjava.util

¢) java:net
=~ d) Java.awt

. 3. Whatisthe purpose of the Java Collections

- Framework?
~a) To provide a unified architecture for
~ ,representmg and mampu!atmg 7
b) <

“collections
To provide a way to create arrays
¢) - To define primitive data types - ~-
3~ To handle exceptions

| 4., Which interface in the Java Collections

Framework represents an ordered collection
of elements that can contain duplicate values?
- a), Collection
b) Map : % G
£y Set- I {
d) List
What is the primary difference between a
‘List" and a ‘Set" in the Java Collections

Framework?

-8 A *Set’ allows duplicate elements, while a

*List® does not

~ 6. Which class is typically used to implement a

7. In the Java Collections Framework, which

b) A ‘List' is unmodifiable, while a *Set® is
c) A 'List allows duplicate elerﬁents, while
d) A 'Set isindexed, whilea " Lxst is not

*List® in the Java Collections Framework?

a) HashMap ;

b)" ArmayList -
_&r—LinkedList o<‘

d) HashMap

interface extends the "List" interface to
provide more efficient insertions and deletions
in the middle of the list?

a) Map e

b) Set o( .

c) Deque -
A~ Queue
8. What is the purpose of the *Map' interface in
the Java Collections Framework?
a) To store a collection of objects
» b) To provide a stack data structure
¢) To store unique elements o
~a4TTo store key-value pairs

9. Which class is typically used to implement a

"Map' in the Java Collections Framework?

~ay HashMap
b) ArrayList
c) HashSet
d) LinkedList

I/ :

S



“15. In Java, whlch operator is used to concatenae

10. What is the primary difference between a
*HashMap'-and a *TreeMap® in the Java two stnngs?
Collections Framework? . Lo s /
. =BTA “TreeMap' uses almkedhstto store .- = 2_ ,
= elements T _ ;
d) None of the above

b) A “HashMap' is synchromzed wh:le a ==
1_6 Which of the following methods is used to

“TreeMap' is not
¢) A TreeMap' allows duphcate keys, whﬂa{ compare two strings for equality i in Java?
a “HashMap® does not : <&~ equals() 3 T
d)-A *‘HashMap® does not mamtam order, b) cornpareTo() - /
; while a *TreeMap' does c) equalslgnoreCase() Rt
11. In the Java Collections Framework, which. d) compare(). . . S

-17. What does the length() method ofa Strmg
object in Javareturn? ~ -
a) - The capacity of the stnng =

interface represents a collection of unique
‘elements with no duplicates?

Sy Map - S S ~~  b) Thesizeofthestring. - ﬂ*‘/
c) Set : = ~_oy-Thelength of thestring ==
d) Collection e _d) The index of the last character
12. Which class is typlcally used to mplement e 18 Which of the followmg is true about J ava
*Set" in the Java Collections Framework? o ~ strings? = T
a) HashMap , S ~a) Stnngsare mutable ST
by HashSet : / —i= . b) Stnngs can contmn only letters
c) LinkedList - .. c¢) Stringscan baveanull value
d) HashMap &b Strings are. lmplemeuted aswx
13. In Java, which class is used to represent a characters. — #
sequence of characters as a string? - 19. What is the purpose of the charAt() method of
a) String ; a String object in Java?
b) StringBuilder b< ‘a) Toadd a character to the string
- &)~ StringSequence b) To remove a character from the string
49 StringArray _o¥ To get the character at a specific index
14. What is the eorrect way to create a new empty d) To get the length of the string
String object in Java? 20. In Java, what is the result of the expression
a) String emptyString =" "Hello" substring(1, 4)?
b) String emptyString = new Stnng(), 3) el
c) String emptyString=""; b) "H"
_&String emptyString = null; °< m,e“" /

| Both A and B
: e) Both A an 8 "llo"
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= 1 What is the advantage of a hash table
~ — asadatastructure? IM
_-"—, ~8) easy to lmplement
== “b) Taster access of data =
c) exhiblt good localrty of

~_ofentries
“27A 1mearcoﬂect10n ‘of ¢ data elements =
~ where the lifear node s ngen by =
-~ -means of | pomter is called" lM
-A)’Lmkedﬁst ===
b) Nodelist -~ - -
~¢) Primitive llst
~d) Unordered llSt - =
+ In Tinked Tist each node contains a" *
-~ minimum of two fields. Ore field js
data '_ﬁeld to*store fhe data second

..

b)_Po nter omteger 23
= jPomtertonode =
~ @ dNode
4 Conmder the followmg deﬂmtlon in
cpro i

, 1 the fo owmgccodels
~used to Create new node? IM

B pe= (NODE*)malloc(smeof(NODE)z/

b; Pir = (NODE*)malloc(NODE)
; pir=
~(NODE* )malloc(slzeoﬂNODE*))
- d) ptr= (NODE)malloc(s:zeof(NODE)),

5. Whatisa Doubiy Lmked List 1 m data

" igference- 7
5’_1 A very eﬁiment for less number To - b) It is atype of linked list where

= <) It is-a type of linked Iist where;_ﬁiir _,f; s

“structure? 1M - =
It is a fype of linked Tist where_ =
each node contains a data fieldand
two references, one to the next :
node and one to the previous node,

_each node contains a data figld and = o
?areference only fothe nextnode, =~ -

~ each node: ‘contains a data field and -

- a reference Oﬁly to the prewous
-node

= -d)}'It 15 2 type of linked list whero = = =

~~each node contains two data ﬁelds = =
~and a reference to the ; next node ==

=6 Whatlsadata_stru ture?' do
7. -The data Structure requlred 10 check
- Whether an expresmon containg a
'baianced Parenthesis BIME :
a) Queue =
) Tree S 2
) Array Ba e
8. Which data strnctme' is needed to
convert infix notation  to postfix
nofation? IM - - -
~ a) Tree SEs el
~b) Branch e s
T
@) Quewe 7 . :
= 3




9. The data su'ucture requrred for

Breadth First Traversal on a graph
is?iM

a) Array - -
b) Stack ~ ; o<
Y Tree - Sy
‘d) Queue.

langugge? IM
ﬁta{sl {1,2,3%
b) inta=4{1,2,3}; -
c) inta[] =new int[3] -
_ : d) inta(3)=[1, 2, 3];
- 11. Which of the following is a linear
data structure? IM - :
Array :
e /
¢) Binary Trees S
- d) Graphs.
12, Which data stracture - is used: for
implementing recursion? 1M
/d) Stack / =
b) Queue '
-¢) List '
d) Array
13. What is the drsadvantage of array
data structure? 1M
a) The-amount of memory to be’

allocated should be - known
beforehand. '

J

accessed m oonstant time
/ Elements . are  stored  in-
contiguous memory blocks.
: ") ‘Multiple other data structures
: : b can be _1mp1emented using
L e

! memory in C? IM -
e i An array of characters.
b) The object of some class.
¢) Same as other primitive data
~ types.
d) Linked List of characters.

DS SR g ! BTt

‘15 The preﬁx form ofA-B/ (C *D: ~ E)

10. How- is an -array initialized in C

: b) Elements of an array can be T

14. How are Strmg represented in

is? 2M
-A/B*C"DE
)‘-KIB‘C*ADE :
). -ABCD* DE
—d) -l*"ACBDE
16. Which data structure 1s based on the
Last In First Out pnncrple? 1M
a) Tree

d) Queue e

17. What :is the need for a cn:cular “

queue? IM -
a) easier computatrons .
'b) implement LIFO pnnmple in-
queues. =
/e)’ effective usage o£memory

d) to_delete elements based on = =

prlonty

18 What is the valde of the postﬁx

expression 6324+—* ? 2M -

S e e
18 '7',7‘. - ;’ o ,’_; = :
/:;’22 / o fore
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